This is an open-access article under the CC BY-NC-ND license Issue VII, November 2024 e-ISSN 2707-9481 Institute of Metallurgy ISBN 978-601-80473-3-6

Institute of Metallurgy and Ore Beneficiation, Satbayev University, Almaty, Kazakhstan https://doi.org/10.31643/2024.02

#### Elmira Ketebayeva

Abai Kazakh National Pedagogical University, Kazakhstan. E-mail: elmira.0241@gmail.com ORCID ID: https://orcid.org/0009-0004-4474-0083

#### Gulzhaina Kassymova

Abai Kazakh National Pedagogical University, Kazakhstan E-mail: g.kassymova@abaiuniversity.edu.kz ORCID ID: https://orcid.org/0000-0001-7004-3864

#### **Kartheges Ponniah**

Sultan Idris Education University, Malaysia. Email: kartheges@fbk.upsi.edu.my ORCID ID: https://orcid.org/0000-0003-2955-0607

#### Ailina Makhmut

Abai Kazakh National Pedagogical University, Kazakhstan. E-mail: minaichigo27@gmail.com ORCID ID: https://orcid.org/0009-0009-7792-5443

# Impact of online language learning on psychological well-being

Abstract: The topic of the impact of online language learning on psychological well-being is gaining increasing attention due to the shift towards digital learning platforms. Online language learning offers convenience, flexibility, and a wide range of resources, which can positively influence individuals' self-confidence, cultural understanding, and sense of achievement. This study examines the influence of online language learning platforms on psychological aspects. The study was conducted through a google form survey consisting of 10 questions in Almaty, Kazakhstan. Research shows that using online language learning platforms can make people feel happier and less stressed. Learning a new language online reduces loneliness and provides confidence. These platforms can also help improve communication skills and understanding of different cultures. Setting goals, tracking progress, and receiving rewards on these platforms can help keep people motivated and interested in the learning process. The results, presented through tables and detailed analysis, indicate the positive impact of online language learning on reducing feelings of isolation, enhancing stress levels, and improving communication skills. The findings shed light on the potential benefits of online platforms in promoting psychological well-being through accessible learning opportunities.

Keywords: students, online platforms, learning, psychology, stress, motivation, communication.

#### Introduction

The advent of technology and the accessibility of online platforms have greatly influenced how people learn languages, leading to a significant shift from traditional classroom settings to online language learning platforms. This topic holds importance as it explores the potential positive effects that online language learning can have on individuals' psychological well-being. Language learning has long been associated with numerous cognitive benefits, such as improved memory, attention span, and problem-solving skills. However, the impact of language learning on psychological well-being has only recently garnered attention. Online language learning has become increasingly popular due to its convenience, flexibility, and wide variety of learning resources available. Blake (2008) discussed the role of technology in foreign language learning. Although the study did not directly address psychological well-being, it highlighted the potential of digital classroom technologies in transforming language learning experiences, which could have implications for psychological outcomes.

One aspect of psychological well-being that can be positively influenced by online language learning is self-confidence. As individuals acquire new language skills and gain proficiency through online platforms, their self-confidence in their language abilities can significantly improve. This boost in self-confidence can extend beyond language skills and positively impact other areas of life, such as social interactions, career opportunities, and personal growth. A study by Bai and Wang (2023) found that growth mindset, self-efficacy, and intrinsic value are important factors in promoting self-regulated learning and English language

learning achievements. As such, understanding the role of affective variables and informal digital learning of English can provide insights into learners' willingness to communicate in a second language (Lee & Drajati, 2019).

Online language learning also offers opportunities for increased cultural understanding and empathy. Engaging with different languages and cultures via online platforms can broaden one's horizons, fostering a sense of cultural awareness and empathy towards others. Wang (2018) emphasized the role of online platforms in broadening individuals' horizons and fostering a sense of cultural awareness and empathy towards others. Similarly, Gao and Zhang (2020) supported this notion, emphasizing that online language learning provides opportunities for increased cultural understanding and empathy. This exposure to diverse perspectives can lead to greater acceptance, tolerance, and respect for others, thus enhancing psychological well-being. Furthermore, online language learning can provide individuals with a sense of achievement and fulfilment. As they set learning goals, track their progress, and witness their language skills evolve, a sense of accomplishment is derived, which contributes to overall psychological well-being. This feeling of achievement can motivate individuals to continue learning and exploring new languages, providing a long-lasting positive effect on mental and emotional well-being. However, it is also important to acknowledge the potential challenges and limitations of online language learning on psychological wellbeing. Some individuals may experience feelings of isolation or lack of motivation due to the absence of direct human interaction in online learning environments. Additionally, self-discipline and effective time management may be necessary to ensure effective learning and prevent feelings of overwhelm or frustration.

Online language learning holds great potential for positively impacting individuals' psychological well-being by boosting self-confidence, promoting cultural understanding, and fostering a sense of achievement. The convenience, flexibility, and abundant resources available through online platforms make language learning more accessible and engaging. Despite potential challenges, the benefits of online language learning on psychological well-being cannot be overlooked. Further research and exploration of this topic are essential to fully understand the extent and nuances of its impact.

## **Research question:**

How do online language learning platforms affect adult learners' mental well-being?

## **Review of literature**

The study examines the psychological dimensions that shape users' experiences on these platforms, focusing on stress reduction, motivation and engagement, personal development, social connection, and cognitive benefits. By understanding how different platforms impact these dimensions, we can identify their potential benefits, limitations, and implications for individuals' psychological well-being. The classification is based on an analysis by social psychologists J.A. Bargh and McKenna Kyle (2004), who have described psychological well-being, such as self-esteem and satisfaction with life. Table 1 describes the classification of online platforms based on psychological impact. It is divided into the following categories: stress reduction, motivation and engagement, personal development, social connection and cognitive benefits. The table highlights the consideration of researchers towards the categories.

Stress Reduction	the efficacy of such stress-reducing features and their potential to alleviate stress and anxiety.	Marchand (2012)
Motivation and Engagement	both internal and external motivational factors play a role in student engagement and learning outcomes	Cerasoli et al. (2014)
Personal Development	basic human needs for growth and meaning, indicating their crucial role in shaping an individual's personal development journey	Nguyen (2021)
Social Connection	a fundamental element of the relationship, encompassing cognitive, emotional, behavioral, and social aspects.	Vivek et al. (2012)

 Table 1. Classification of online platforms

Cognitive Benefits	improvements in cognitive function, providing support for the	Jaeggi et al.
	cognitive benefits associated with specific training interventions.	(2011)

### Stress Reduction

One of the important elements analyzed is the impact of online platforms on users' stress levels. Platforms that offer stress-reducing activities, such as mindfulness and relaxation exercises, can contribute significantly to users' mental well-being. Stress and anxiety are prevalent among university students, particularly as a result of the COVID-19 pandemic. Wang and Zhao (2020) found that Chinese university students experienced higher levels of anxiety due to the pandemic, while Fawaz and Samaha (2021) reported that e-learning platforms have led to depression and anxiety disorders among undergraduate university students. In response to these concerning findings, stress management programs have been identified as essential tools in preventing and treating burnout among students and professionals (Romani & Ashkar, 2014).

To address the mental health challenges faced by university students, the efficacy of online platforms in reducing stress and anxiety has been explored. Online mindfulness courses are effective in reducing stress, anxiety, and depression. Similarly, mindfulness and cognitive-behavioral therapy-based interventions have shown promise in reducing stress, anxiety, and depression (Boursier et al., 2020). Furthermore, the mindfulness-based stress reduction (MBSR) program has been found to improve wellbeing and relaxation states in a longitudinal study (Krusche et al., 2013). However, mixed evidence has been found for the use of mindfulness-based interventions in reducing psychological distress in undergraduate medical students (Varker et al., 2019). Online platforms offering stress-reducing activities, such as mindfulness and relaxation exercises, have the potential to alleviate stress and anxiety among university students. Nevertheless, further research is needed to address the mixed evidence regarding the efficacy of such interventions and to identify the most effective strategies for reducing stress and anxiety.

### Motivation and Engagement

Motivation and engagement are crucial factors in determining users' overall experience on online platforms. This dimension explores how platforms can facilitate goal-setting, progress tracking, and rewards to enhance users' motivation and engagement levels. Peters, Calvo, and Ryan (2018) highlight the significance of designing digital experiences to promote motivation, engagement, and well-being. They emphasize the role of digital interfaces in enhancing user experience and suggest that incorporating features for goal-setting, progress tracking, and rewards can positively impact user motivation and engagement. Reeve and Lee (2014) provide further insights into the relationship between motivation and engagement. They found that changes in motivation anticipate changes in engagement. Moreover, they tested the reciprocal relation that changes in students' classroom engagement led to corresponding longitudinal changes in their classroom motivation. This indicates that engagement and motivation are interrelated and mutually influence each other.

Overall, the studies reviewed provide valuable insights into the role of motivation and engagement on online platforms and highlight the significance of designing user-centered experiences to promote sustained engagement and positive user outcomes.

## Personal Development

Online platforms that focus on personal development have gained significant popularity. The aspect investigates the way platforms can facilitate users' self-improvement through features such as educational content, skill-building exercises, and personal growth tracking. By analyzing the effectiveness of these tools, this research aims to shed light on how online platforms can be used as valuable resources for personal development. Nawrot & Doucet (2014) discuss the importance of time management support on online learning platforms to engage massive open online course (MOOC) students. They emphasize the need for features that facilitate effective time management to enhance student engagement and improve learning outcomes. This finding highlights the need for online platforms focusing on personal development to incorporate time management tools to better engage users and support their self-improvement efforts. Moreover, Irvine et al. (2015) conducted a randomized controlled trial to evaluate the effectiveness of a mobile web app in self-managing low back pain. The study demonstrated the potential of mobile applications in promoting self-management of health issues, suggesting that online platforms for personal development could leverage mobile technology to deliver interventions aimed at improving users' well-

being. In addition, Woerkom & Meyers (2018) discuss the effects of a strength intervention on personal growth initiative. This study provides evidence of the positive impact of interventions aimed at strengthening personal growth. The findings suggest that online platforms for personal development could incorporate similar interventions to empower users and promote their growth in various aspects of their lives. From the importance of time management support to the potential of mobile applications, image recognition, and personalized interventions, the findings suggest various avenues for enhancing the effectiveness of these platforms.

## Social Connection

Human beings have an intrinsic need for social interaction, and online platforms can play a pivotal role in fulfilling this need. This dimension examines how platforms enable users to connect with others, fostering social relationships and enhancing social support networks.

Tomasello (2014) argues that human thinking and behavior are deeply rooted in social interaction. He emphasizes the importance of collaborative and cooperative activities in shaping human cognition, suggesting that social interaction is fundamental to human nature. Choudhury and De (2014) delve into mental health discourse on Reddit, focusing on self-disclosure, social support, and anonymity. Their research sheds light on how online platforms allow for social interaction and support, particularly in the context of sensitive topics such as mental health. Oh, Ozkaya and LaRose (2014) investigate the relationship between online social networking and life satisfaction. They emphasize the positive impact of online supportive interaction and perceived social support on users' overall life satisfaction, highlighting the role of online platforms in providing social support. By integrating and synthesizing the provided research findings, this literature review contributes to a deeper understanding of how online platforms facilitate human social interaction.

# **Cognitive Benefits**

Online platforms can also provide cognitive benefits, such as improving cognitive skills, memory retention, and problem-solving capabilities. This feature explores the potential of different platforms, including educational applications and brain-training games, to enhance users' cognitive abilities. Papanastasiou et al. (2018) examined the effects of virtual and augmented reality on students' twenty-first-century skills and highlighted the positive impact of these technologies on cognitive abilities. These findings suggest that online platforms, including virtual reality applications, can contribute to the enhancement of cognitive skills among users. However, Sala and Gobet (2017) provided contradictory evidence, suggesting that video game training does not enhance cognitive ability. The comprehensive meta-analytic investigation conducted by Sala, Tatlidil, and Gobet (2017) raises questions about the effectiveness of video game training in improving cognitive skills. This contradictory evidence highlights the need for further research to clarify the cognitive benefits of online platforms, but several knowledge gaps exist. First, the long-term effects of online platform interventions on cognitive abilities require further investigation. Sala and Gobet (2017) emphasized the need for studies focusing on the sustainability of cognitive improvements resulting from online platform use.

The literature reviewed in this study provides a foundation for future research on the cognitive benefits of online platforms and highlights the importance of addressing existing knowledge gaps to advance our understanding of the potential of different platforms in improving cognitive skills, memory retention, and problem-solving capabilities.

# **Research Methodology**

# Population and sample

The population of the study is male and female aged 18 to 25 years. These are mainly students and workers in various fields interested in learning foreign languages. This age category was chosen to determine the influence of online platforms on the psychological aspects of the individual. Many of them were positive about the introduction of online platforms in the context of accessible learning.

## Design of the study

The data collection tool of the study is a survey consisting of ten items that fall under three categories. The first category is about the influence of online platforms on stress reduction aspects. The second category determines the influence on motivation and further satisfaction with the results. The impact of online platforms on communication skills is represented in the third category. The survey was

conducted anonymously and sent to Google Forms. The pie charts obtained after answering the survey were grouped into tables for later analysis in the results section.

## **Research Results**

The results demonstrate data of the respondents' answers about the three categories in the questionnaire. The impact of online learning platforms on stress reduction, motivation and communication skills was studied. The tables are followed by detailed paragraphs that explain how respondents answered ten items in the questionnaire.

Table 2. Impact of online platforms on stress reduction

Variable	Level	Counts	Total	Proportion	p
Online language learning has helped reduce feelings of isolation and loneliness in my life.	Agree	7	17	0.412	0.629
	Disagree	1	17	0.059	< .001
	Neutral	6	17	0.353	0.332
	Strongly Agree	2	17	0.118	0.002
	Strongly disagree	1	17	0.059	< .001
The flexibility of online language					
learning has positively influenced my stress levels.	Agree	6	17	0.353	0.332
	Disagree	2	17	0.118	0.002
	Neutral	5	17	0.294	0.143
	Strongly Agree	3	17	0.176	0.013
	Strongly disagree	1	17	0.059	< .001
Regular learning with the usage of online platforms has positively impacted my overall mental well-being	Agree	5	17	0.294	0.143
	Disagree	3	17	0.176	0.013
	Neutral	7	17	0.412	0.629
	Strongly Agree	1	17	0.059	< .001
	Strongly disagree	1	17	0.059	< .001

Table 2 illustrates the respondents' answers about the influence of online learning platforms on stress reduction. 41.2% of respondents (p = 0.629) agree with the statement that online learning platforms have helped them reduce feelings of isolation and loneliness. Only 5.9% of respondents (p < 0.01) showed disagreements at this point. Responses to the second statement show that the majority of respondents, 35.3% (p = 0.332) agree that the introduction of such platforms reduces stress levels. However, 11.8% of respondents disagree (p = 0.002).

Table 3. Impact of online platforms on motivation

Variable	Level	Counts	Total	Proportion	p
Learning languages online has positively impacted my overall sense of accomplishment and self- esteem.	Agree	7	17	0.412	0.629
	Disagree	2	17	0.118	0.002
	Neutral	5	17	0.294	0.143

Materials of International Scientific-Practical Internet Conference "Challenges of Science", Issue VII, 2024

Variable	Level	Counts	Total	Proportion	p
	Strongly Agree	3	17	0.176	0.013
Online language learning					
platforms have increased	Agree	6	17	0.353	0.332
my motivation to learn	Agree	0	17	0.555	0.552
and explore new cultures					
	Disagree	2	17	0.118	0.002
	Neutral	2	17	0.118	0.002
	Strongly Agree	7	17	0.412	0.629
I feel a sense of					
achievement by online	Agree	9	17	0.529	1.000
language learning	Agree	5	17	0.525	1.000
journey.					
	Neutral	3	17	0.176	0.013
	Strongly Agree	5	17	0.294	0.143
Online language learning					
has positively affected my	Agree	9	17	0.529	1.000
ability to adapt to new	Agree	5	17	0.525	1.000
challenges					
	Disagree	1	17	0.059	< .001
	Neutral	5	17	0.294	0.143
	Strongly Agree	1	17	0.059	< .001
	Strongly	1	17	0.059	< .001
	disagree	T	17	0.059	100. >

*Note.* Proportions tested against value: 0.5.

Table 3 demonstrates the respondents' answers about the second category. Most respondents (p = 0.629) tend to agree with statements that this process has a positive effect on their motivation. It indicates strong statistical significance in agreement with the statement. Even though 11.8% of respondents (p < 0.118) showed disagreement in this aspect, we can still see a positive attitude towards online platforms.

Table 4. Impact of online platforms on communication skills

Variable	Level	Counts	Total	Proportion	p
Learning languages through online platforms has improved my cognitive abilities and problem- solving skills.	Agree	7	17	0.412	0.629
	Disagre e	2	17	0.118	0.002
	Neutral	8	17	0.471	1.000
Online language learning has increased my confidence in my communication skills.	Agree	13	17	0.765	0.049
	Disagre e	1	17	0.059	< .001
	Neutral Strongl	2	17	0.118	0.002
	y disagre e	1	17	0.059	< .001
Online language learning has	C				
provided me a connection with fellow language learners	Agree	7	17	0.412	0.629
	Neutral	6	17	0.353	0.332
	Strongl	4	17	0.235	0.049

Materials of International Scientific-Practical Internet Conference "Challenges of Science", Issue VII, 2024

Variable	Level	Counts	Total	Proportion	p	
	y Agree					

*Note.* Proportions tested against value: 0.5.

Table 4 demonstrates the majority of respondents' answers and their optimistic attitude concerning the development in this particular aspect. 76.5% of respondents (p = 0.049) showed the tendency of the impact of online platforms on the increase of confidence in communication skills. Moreover, the respondents state improvements in problem-solving skills.

## **Research Discussion**

The findings presented in this study shed light on the positive impact of online language learning on individuals' psychological well-being and communication skills. The results indicate that a majority of respondents agree that learning languages through online platforms has improved their cognitive abilities, problem-solving skills, and confidence in communication. This aligns with previous research emphasizing the role of online platforms in providing social support and enhancing overall life satisfaction.

Researchers have studied various psychological outcomes (Burke et al., 2010; Lavrinenko et al., 2019; Arpentieva et al., 2019) that provide data on feelings of loneliness, and life satisfaction. Our findings reveal the data of online language learning and its connections with fellow language learners, fostering a sense of community and support. This sense of community is crucial for individuals, especially in times of isolation and loneliness. The interaction with other students who share the same intentions would become beneficial and develop social skills. This interconnectedness amplifies the learning experience, promoting open-mindedness and cultural exchange. A group of other researchers indicates the failure of online social networking and its positive outcomes (Liu, X., & LaRose, R., 2008). The results of the study demonstrated the negative effect of online platforms towards school life satisfaction. However, our findings suggest that online language learning can serve as a valuable resource for personal development, offering opportunities for self-improvement and skill enhancement. Online language learning has revolutionized the way individuals connect, learn, and develop. This transformative mode of education fosters a sense of community and support among language learners while offering opportunities for personal growth and skill enhancement. With its flexibility, accessibility, and technological integration, online language learning continues to empower individuals on their journey towards acquiring new language proficiencies.

# Conclusions

The study delved into the impact of online learning platforms on motivation, stress reduction, and mental health, ultimately revealing an optimistic perspective towards these platforms and their integration into everyday human life. The findings of this study strongly support the introduction and widespread use of online learning platforms in our lives. These platforms not only bolster motivation and enthusiasm for learning but also provide opportunities for stress reduction and foster positive mental health. The convenience, flexibility, and inclusive nature of online learning platforms make them invaluable tools for individuals seeking personal and professional growth. With further advancements and enhancements, these platforms have the potential to revolutionize education and transform the lives of learners worldwide

## **Research Recommendations**

It is recommended that educators and online platform developers prioritize the influence of online learning platforms on learners' mental well-being. More research is needed about this issue to develop the learning process and put the findings into action.

## **Research Limitations**

The study was conducted in the form of a survey. People from 18 to 25 years old, of different professions, were interviewed. The study only included a specific demographic group (e.g., young adults) in

Almaty, Kazakhstan. The study may not be generalizable to other populations with different preferences or needs. The survey included three main reasons: stress reduction, motivation and communication skills. The study only tested a psychological aspect.

**Acknowledgement.** This work was supported by the Abai National Pedagogical University in Almaty, in the Republic of Kazakhstan. The authors express their gratitude to the anonymous respondents and their impact on the research.

**Cite this article**: Ketebayeva, E., Kassymova, G., Ponniah, K., Makhmut, A. (2024). Impact of online language learning on psychological well-being. *Challenges of Science*. Issue VII, pp. 11-19. https://doi.org/10.31643/2024.02

#### References

- Arpentieva, M.R., Kassymova, G., Kenzhaliyev O., Retnawati, H., Kosherbayeva, A. (2019) Intersubjective Management in Educational Economy. Materials of International Practical Internet Conference "Challenges of Science". ISBN 978-601-323-144-0. Issue II, pp. 24- 31. https://doi.org/10.31643/2019.004
- Bai, B., & Wang, J. (2023). The role of growth mindset, self-efficacy and intrinsic value in self-regulated learning and English language learning achievements. *Language Teaching Research*, 27(1), 207-228. https://doi.org/10.1177/1362168820933190
- Bargh, J. A., & McKenna, K. Y. A. (2004). The internet and social life. Annual Review of Psychology (Print), 55(1), 573–590. https://doi.org/10.1146/annurev.psych.55.090902.141922
- Blake R. (2008). Brave New Digital Classroom: Technology and Foreign Language Learning. Washington: Georgetown University Press. ISBN: 9781589016521 http://doi.org/10.1353/book13058
- Boursier, V., Griffiths, M.D. & Gioia, F. (2020). Do selfie-expectancies and social appearance anxiety predict adolescents' problematic social media use? *Computers in Human Behavior*, 110. https://doi.org/10.1016/j.chb.2020.106395
- Burke, M., Marlow, C., & Lento, T. M. (2010). Social network activity and social well-being. CHI '10: Proceedings of the SIGCHI Conference on Human Factors in Computing Systems. 1909–1912. https://doi.org/10.1145/1753326.1753613
- Cerasoli, C. P., Nicklin, J. M., & Ford, M. T. (2014). Intrinsic motivation and extrinsic incentives jointly predict performance: A 40year meta-analysis. *Psychological Bulletin*, 140(4), 980–1008. https://doi.org/10.1037/a0035661
- De Choudhury, M., & De, S. (2014). Mental Health Discourse on reddit: Self-Disclosure, Social Support, and Anonymity. *Proceedings* of the International AAAI Conference on Web and Social Media, 8(1), 71–80. https://doi.org/10.1609/icwsm.v8i1.14526
- Fawaz, M., & Samaha, A. (2021). E-learning: Depression, anxiety, and stress symptomatology among Lebanese university students during COVID-19 quarantine. *Nursing Forum (Hillsdale)*, 56(1), 52–57. https://doi.org/10.1111/nuf.12521
- Gao, L. X., & Zhang, L. J. (2020). Teacher Learning in Difficult Times: Examining Foreign language teachers' cognitions about online teaching to tide over COVID-19. *Frontiers in Psychology*, 11. https://doi.org/10.3389/fpsyg.2020.549653
- Irvine, A. B., Russell, H., Manocchia, M., Mino, D. E., Glassen, K., Morgan, R. L., Gau, J. M., Birney, A. J., & Ary, D. V. (2015). Mobile-Web App to Self-Manage Low Back Pain: Randomized controlled trial. *Journal of Medical Internet Research*, 17(1), e1. https://doi.org/10.2196/jmir.3130
- Jaeggi, S. M., Buschkuehl, M., Jonides, J., & Shah, P. (2011). Short- and long-term benefits of cognitive training. Proceedings of the National Academy of Sciences of the United States of America, 108(25), 10081–10086. https://doi.org/10.1073/pnas.1103228108
- Krusche, A., Cyhlarova, E., & Williams, J. M. G. (2013). Mindfulness online: an evaluation of the feasibility of a web-based mindfulness course for stress, anxiety and depression. *BMJ open*, 3(11). https://doi.org/10.1136/bmjopen-2013-003498
- Lavrinenko, S.V., Arpentieva, M.R., Kassymova, G.K. (2019). The negative impact of the internet on the educational process. *AIP Conference Proceedings*, 2135(1), 1-3. https://doi.org/10.1063/1.5120671
- Lee, J. S., & Drajati, N. A. (2019). Affective variables and informal digital learning of English: Keys to willingness to communicate in a second language. *Australasian Journal of Educational Technology*, 35(5), 168–182. https://doi.org/10.14742/ajet.5177
- Liu, X., & LaRose, R. (2008). Does Using the Internet Make People More Satisfied with Their Lives? The Effects of the Internet on College Students' School Life Satisfaction. *Cyberpsychology & Behavior*, 11(3), 310–320. https://doi.org/10.1089/cpb.2007.0040
- Marchand, W. R. (2012). Mindfulness-Based stress reduction, Mindfulness-Based cognitive therapy, and zen meditation for depression, anxiety, pain, and psychological distress. *Journal of Psychiatric Practice*, 18(4), 233–252. https://doi.org/10.1097/01.pra.0000416014.53215.86
- Nawrot, I., & Doucet, A. (2014). Building engagement for MOOC students: introducing support for time management on online learning platforms. *Proceedings of the 23rd International Conference on World Wide Web.* 1077–1082. https://doi.org/10.1145/2567948.2580054
- Nguyen, N. T. (2021). The Fearless Organization: Creating psychological safety in the workplace for learning, innovation, and growth. *Learning Organization*. 28(3), 321–323. https://doi.org/10.1108/tlo-04-2021-266
- Oh, H. J., Ozkaya, E., & LaRose, R. (2014). How does online social networking enhance life satisfaction? The relationships among online supportive interaction, affect, perceived social support, sense of community, and life satisfaction. *Computers in Human Behavior*, 30, 69–78. https://doi.org/10.1016/j.chb.2013.07.053

- Papanastasiou, G., Drigas, A., Skianis, C., Lytras, M. D., & Papanastasiou, E. (2018). Virtual and augmented reality effects on K-12, higher and tertiary education students' twenty-first century skills. *Virtual Reality (Waltham Cross)*, 23(4), 425–436. https://doi.org/10.1007/s10055-018-0363-2
- Peters, D., Calvo, R. A., & Ryan, R. M. (2018). Designing for motivation, engagement and wellbeing in digital experience. *Frontiers in Psychology*, 9. https://doi.org/10.3389/fpsyg.2018.00797
- Reeve, J., & Lee, W. (2014). Students' classroom engagement produces longitudinal changes in classroom motivation. *Journal of Educational Psychology*, 106(2), 527–540. https://doi.org/10.1037/a0034934
- Romani, M., & Ashkar, K. (2014). Burnout among physicians. *Libyan Journal of Medicine*, 9(1). https://doi.org/10.3402/ljm.v9.23556 Sala, G., Tatlidil, K. S., & Gobet, F. (2018). Video game training does not enhance cognitive ability: A comprehensive meta-analytic

investigation. *Psychological Bulletin*, 144(2), 111–139. https://doi.org/10.1037/bul0000139

- Tomasello, M. (2014). A natural history of human thinking. *Cambridge, MA and London, England: Harvard University Press.* https://doi.org/10.4159/9780674726369
- Van Woerkom, M., & Meyers, M. C. (2018). Strengthening personal growth: The effects of a strengths intervention on personal growth initiative. *Journal of Occupational and Organizational Psychology*, 92(1), 98–121. https://doi.org/10.1111/joop.12240
- Varker, T., Brand, R., Ward, J., Terhaag, S., & Phelps, A. (2019). Efficacy of synchronous telepsychology interventions for people with anxiety, depression, posttraumatic stress disorder, and adjustment disorder: A rapid evidence assessment. *Psychological Services*, 16(4), 621–635. https://doi.org/10.1037/ser0000239
- Vivek, S. D., Beatty, S. E., & Morgan, R. M. (2012). Customer engagement: Exploring customer relationships beyond purchase. Journal of Marketing Theory and Practice, 20(2), 122–146. https://doi.org/10.2753/mtp1069-6679200201
- Wang, A., Singh, A., Michael, J., Hill, F., Levy, O., & Bowman, S. R. (2018). GLUE: A Multi-Task Benchmark and Analysis Platform for Natural Language Understanding. In Proceedings of the 2018 EMNLP Workshop BlackboxNLP: Analyzing and Interpreting Neural Networks for NLP, 353–355. Association for Computational Linguistics. https://doi.org/10.18653/v1/w18-5446
- Wang, C., & Zhao, H. (2020). The impact of COVID-19 on anxiety in Chinese university students. *Frontiers in Psychology*, 11. https://doi.org/10.3389/fpsyg.2020.01168